### Re: Mosman ZD East Restoration - Stage 1 & 2 Reports

From:

Adisty Said <adisty@murraycivil.com.au>

To:

Phillip Cresnar <pcresnar@ausgrid.com.au>

Cc:

CCL North Projects <ccl\_north\_projects@ausgrid.com.au>, Murray Civil Works

<admin@murraycivil.com.au>

Date:

Tue, 17 Dec 2013 14:48:39 +1100

Attachments:

Stage 3A.pdf (100.3 kB); Murray Civil, Quotation.pdf (63.01 kB)

Hi Phil,

As requested, please find attached Stage 3A and the quote from MSA Civil. Should you have any enquiries, please don't hesitate to contact me any time. Thank you.

Regards, Adisty P. Said Systems Manager

Murray Civil Works www.murraycivil.com.au PO Box 403 - Lidcombe NSW 1825 Phone 02 9749 7500 - Mobile 0433 029 979 - Fax 02 9643 9894

On 17 Dec 2013, at 11:03 am, Phillip Cresnar opcresnar@ausgrid.com.au> wrote:

> Please submit a Stage 3A

>

>

\_

> Kind Regards,

- > Phil Cresnar
- > Project Engineer
- > Network Development
- > Cable Laying
- > Ausgrid
- > < Mail Attachment.gif>
- > 71 Constitution Rd, Meadowbank 2114

>

- > T. 02 8878 5031 (Ext 35031)
- > M. 0419 444 866
- > F. 02 8878 5090 (Ext 35090)
- > pcresnar@ausgrid.com.au
- > <Mail Attachment.gif><Mosman ZD East Restoration Stage 1.pdf><Stage 2 Mosman ZD East Restoration signed.pdf>This e-mail may contain confidential or privileged information.
- > If you have received it in error, please notify the sender immediately
- > via return e-mail and then delete the original e-mail.
- > If you are the intended recipient, please note the change of sender email address to @ausgrid.com.au.
- > Ausgrid has collected your business contact details for dealing with you in
- > your business capacity. More information about how we handle your

- > personal information, including your right of access is contained at > http://www.ausgrid.com.au/

Proposed Works Order no: 12000330 Stage 3A - Contractor Offer (Issued in accordance to clause 3 of the Standing Order Deed AG.4895/12) Contractor: Murray Civil Works Date issued: 17 December 2013 Project name: Mosman ZD East Restoration Site location: Central Ave, Mosman Description of the Works As specified in the Stage 1 Invitation and Stage 2 Basis of Offer. Cost Item group **GST** included GST excluded Lump sum based on Schedule of Rates \$ N/A \$ N/A Items quoted \$ \$ Items charged at cost plus 10% \$344,300.00 \$378,730.00 **Total cost** \$344,300.00 \$378,730.00 Acceptance of Principal Contractor role We accept the role of Principal Contractor for this Works Order in accordance with clause 293 of the Work Health and Safety Regulation 2011 - for the works as per the works description excluding cable jointing (Note: Shoring and triple sealing of cables is not considered jointing works). Special conditions on cost NIL Available resources Proposed Site Supervisor: to confirm Contractor has competent, trained crew available to meet proposed resource requirements: Yes Contractor's Representative The Contractor is required to identify a person to be nominated as a contact person and to be known for the purposed of the Contract as the 'Contractor's Representative' who has the authority to act for and on behalf of the Contractor in relation to the Contract and the performance of the Contract. Name: **David Naughton** Title: Project Manager Address: PO Box 403, Lidcombe NSW 1825 Office phone: 02 9749 7500 Mobile: 0499 475 987 Fax: 02 9643 9894 Email: david@murraycivil.com.au

	anna bana unut indunentiinin tar voodustiiskud kärku	armen ( Lambitande de Leer de salle februarism)	A	Pro	posed Works Order no: 12000330			
Stage 3A - Contractor Offer								
(Issued in accordance to clause 3 of the Standing Order Deed AG.4895/12)								
	F	ropose	d subcontrac	lors				
Name of subcontractor Details of works to be provided								
MSA Civil		Final res	Final restoration works					
Supporting attachments to offer								
Documents		Υ	n/a		Notes			
Quantities against Schedule of F	Rates	$\underline{\underline{\Box}}_{-}$						
Traffic Control Plan (TCP)		Щ			\$			
Full details of quoted Works					ng Parlament and the State Sta			
Cost plus 10% details				1	the Property and Auditor Was a Parish Street, July 1911 Word In Property and an account of the contract of the			
Other		Ш						
	Tra	iffic cor	itrol requirem	ents				
To be organised by MSA.								
			enterend of the English Control Section Sectio					
		Contra	ct compliance	8				
The Contractor confirms that in a	Il respects	it intend	s to be bound	to the Deed	and its Parts			
Name:	Adisty Said			Position:	Systems Manager			
Signature:	ignature: Date: 17 December 2013							

# MSA civil & Communications



## QUOTATION

Unit 15/54 Beach St, Kogarah, NSW 2217

Mobile

0406 893 093

Email:

Office:

02)9587 1099

ABN:

49 152 369 965

MURRAY CIVIL PO BOX 403, Lidcombe NSW 1825

Date:

10/12/2013

Quote #:

MOSMAN

Quote BY:

Rev No.:

1

Attention:

**Denis Twomey** 

Subject:

Mosman Restorations

With reference to the above project we would like to submit our quotation

ITEM NO.	QTY	DESCRIPTION	UNIT	UNIT PRICE	TOTAL
		Concrete+Asphalt Restorations	16	05	
1	1	Traffic Control	Item	\$11,500.00	\$11,500.00
2	1	Sediment Control	Item	\$1,800.00	\$1,800.00
		CENTRAL AVE			
3	464	Rate INC, saw cut, excavate and remove affected footpath, removal of spoil, supply and lay concrete footpath at 80mm thick 25mpa concrete	m2	\$120.00	\$55,680.00
4	148	Rate INC, saw cut, excavate and remove affected driveway, removal of spoil, supply and lay concreteDriveway at 125mm thick 25mpa concrete with 1 layer of SL72 Mesh	m2	\$195.00	\$28,860.00
5	5	Rate INC, saw cut, excavate and remove affected kerb+gutter, removal of spoil, supply and lay concrete kerb+gutter, 25mpa concrete	L/M	\$296.00	\$1,480.00
6	14	Rate INC, saw cut, excavate and remove affected concrete road slab, removal of spoil, supply and lay concrete road slab @ 150mm thick, 1 layer of SL82 mesh and 12mm dowels every 600, 25mpa concrete	m2	\$325.00	\$4,550.00
7	5	Rate INC, saw cut, excavate and remove affected asphalt road, removal of spoil, supply and lay asphalt road @ 50mm thick, AC10	m2	\$165.00	\$825.00
		QUAKERS RD			

8	25	Rate INC, saw cut, excavate and remove affected driveway, removal of spoil, supply and lay concreteDriveway at 125mm thick 25mpa concrete with 1 layer of SL72 Mesh	m2	\$160.00	\$4,000.00
9	83	Rate INC, saw cut, excavate and remove affected footpath, removal of spoil, supply and lay concrete footpath at 80mm thick 25mpa concrete	m2	\$145.00	\$12,035.00
10	13	Rate INC, saw cut, excavate and remove affected kerb+gutter, removal of spoil, supply and lay concrete kerb+gutter, 25mpa concrete	L/M	\$285.00	\$3,705.00
11	18	Rate INC, saw cut, excavate and remove affected asphalt road, removal of spoil, supply and lay asphalt road @ 50mm thick, AC10	m2	\$200.00	\$3,600.00
		AWABA ST			
12	23	Rate INC, saw cut, excavate and remove affected footpath, removal of spoil, supply and lay concrete footpath at 80mm thick 25mpa concrete	m2	\$145.00	\$3,335.00
13	1	Concrete Pram Ramp	Item	\$1,800.00	\$1,800.00
14	1	Rate INC, saw cut, excavate and remove affected kerb+gutter, removal of spoil, supply and lay concrete kerb+gutter, 25mpa concrete	L/M	\$325,00	\$325.00
15	25	Rate INC, saw cut, excavate and remove affected driveway, removal of spoil, supply and lay concreteDriveway at 125mm thick 25mpa concrete with 1 layer of SL72 Mesh	m2	\$225.00	\$5,625.00
		WARRINGAH RD			
16	2	Rate INC, saw cut, excavate and remove affected kerb+gutter, removal of spoil, supply and lay concrete kerb+gutter, 25mpa concrete	L/M	\$285.00	\$570.00
17	38	Rate INC, saw cut, excavate and remove affected footpath, removal of spoil, supply and lay concrete footpath at 80mm thick 25mpa concrete	m2	\$185.00	\$7,030.00
18	87	Rate INC, saw cut, excavate and remove affected driveway, removal of spoil, supply and lay concreteDriveway at 125mm thick 25mpa concrete with 1 layer of SL72 Mesh	m2	\$225.00	\$19,575.00
19	114	Rate INC, saw cut, excavate and remove affected concrete road slab, removal of spoil, supply and lay concrete road slab @ 150mm thick, 1 layer of SL82 mesh and 12mm dowels every 600, 25mpa concrete	m2	\$259.00	\$29,515.00
20	144	Rate INC, saw cut, mill+fill affected asphalt road, removal of spoil, supply and lay asphalt road @ 50mm thick, AC10	m2	\$80.00	\$11,520.00
		MANDALONG RD			
		PARTIE NO		***************************************	
21	12	Rate INC, saw cut, excavate and remove affected kerb+gutter, removal of spoil, supply and lay concrete kerb+gutter, 25mpa concrete	L/M	\$220.00	\$2,640.00
22	85	Rate INC, saw cut, excavate and remove affected footpath, removal of spoil, supply and lay concrete footpath at 80mm thick 25mpa concrete	m2	\$105.00	\$8,925.00
		•	10.50		•

			· · · · · · · · · · · · · · · · · · ·			
	23	50	Rate INC, saw cut, mill+fill affected asphalt road, removal of spoil, supply and lay asphalt road @ 50mm thick, AC10	m2	\$120.00	\$6,000.00
	24	366	Rate INC, saw cut, mill+fill affected asphalt road, removal of spoil, supply and lay asphalt road @ 30mm thick, AC10	m2	\$55.00	\$20,130.00
			BALMORAL AVE			
	25	7	Rate INC, saw cut, excavate and remove affected kerb+gutter, removal of spoil, supply and lay concrete kerb+gutter, 25mpa concrete	L/M	\$225.00	\$1,575.00
	26	323	Rate INC, saw cut, excavate and remove affected footpath, removal of spoil, supply and lay concrete footpath at 80mm thick 25mpa concrete	m2	\$100.00	\$32,300.00
-	27	330	Rate INC, saw cut, mill+fill affected asphalt road, removal of spoil, supply and lay asphalt road @ 30mm thick, AC10	m2	\$55.00	\$18,150.00
	28	1	Rate INC, saw cut, excavate and remove affected concrete road slab, removal of spoil, supply and lay concrete road slab @ 150mm thick, 1 layer of SL82 mesh and 12mm dowels every 600, 25mpa concrete	m2	\$305.00	\$6,710.00
	29	56	Rate INC, saw cut, excavate and remove affected driveway, removal of spoil, supply and lay concreteDriveway at 125mm thick 25mpa concrete with 1 layer of SL72 Mesh	m2	\$165.00	\$9,240.00
L				Total	EXC G.S.T	\$313,000.00
	Total LAC G.S. 1					
	Total INC G.S.T			\$344,300.00		

### General Notes :

All Excavated material is assumed as VENM unless otherwise indicated by Customer

2 Excludes All utility works unless quote requested.

Should you wish to discuss the above please do not hesitate to contact

Yours Sincerely

MSA Civil & Communications Pty. Ltd.